Africa Twin Hugger 2016>

Fitting Kit:

2 X M6 x 16mm flange headed bolts
1 X M5 x 16mm flange headed bolt
1 X “P” Clip

Instructions:

1.

Remove the chain guard.
Unbolt and remove the rearmost brake hose mounting clip.
Feed hugger over the tyre and into position with the right hand mounting tab under the brake hose.

Using the M6 x 16mm flange headed bolts provided loosely fit the two chain guard mountings, do not
fully tighten.

Fit the “P” clip around the brake hose to replace the brake hose mounting clip.

Using the M5 x 16mm flange headed bolt provided loosely fit the tab to the brake hose mounting
point, with the bolt going through the “P” clip to hold the brake hose in place.

Check the alignment of the hugger before fully tightening all mounting points.

Make sure to always check all fixings periodically.



